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Questions 1 to 10 carry 1 mark each. Questions 11 to 15 carry 2 marks each. For each
question, four options are given. One of them is the correct answer. Make your choice
(1, 2, 3 or 4). Shade the oval (1, 2, 3 or 4) on the Optical Answer Sheet. (20 marks)
All diagrams are not drawn to scale.

1. Which one of the following is equal to 60 thousands, 40 tens and 15 ones?

(1) 604015

(2) 600415

(3) 60415

4) 6415

X .3

2. How many eighths are there in 2 Z ?

(1) 22

(2) 20

(3) 11

(4) 10

3. 3040 gis the same as

(1) 3kg4g
(2) 3kg40g
(3) 30kg4g

(4) 30kg40g

4. Melvin and Ramesh took part in a race. Melvin ran at 5 m/s and took 15 seconds.
Ramesh ran‘at 3 m/s. What was the time taken by Ramesh?

(1) 15s-
(2) - 25s
(3) 45s

(4) 75s



' The’re' are fwice as many boys as girls. There are twice as many adults as children. '

| .Which one of the following bar graphs shows the above information correctly?

(1) Number
of
children

Boys  Gils  Adults

@)

Number
- of
- children

=

”Boys' ~Girls  Adults

€)) Number.
of
children

"~ Boys Gils  Adults

_ ‘(4) ~Number
Cof L
children|_

Boys' Girls Adults



In the diagram below, AB, CD and CE are straight lines.
E

Which one of the following statements about the angles is true?

(1) ZACD= LECB
(2) ZACE=/BCD

(3)  ZECB+ £BCD = 180°
(4)  ZACE + LECB=180°

The figure below is made up of Rectangle PQRS and Square STUV.
What is the perimeter of the {jgure? i

P S \V/
A :
gcrp. T -
_ 4 cm
v N
Q< -3 >R
6cm
(1) 19 cm
o (2) 34 cm
(3) 40 cm

(4)  45cm



8.

In the diagram l>elovll, the shaded square is

1

)

@
)

of the mosque.

He

S

1)

north-east
north-west
south-east o

south-west

A car left Village A and travelled at an average speed of 70 km/h towards Town P.

A coach left Village B and travelled at an average speed of 50 km/h towards Town Q.
Vlllage A and Village B are 10 km apart How far apart are the two vehlcles one hour
after the drivers haye started their journeys? '

Town
Q

(1)

(2

(3)

@

— R \ oToN"
Village A Village B .
- 100 km -
110 km
120 km
130 km



10.

1.

30 students in a cléss were asked to choose a co!bur for their class T-shirt.
Their responses are shown in the pie-chart below. AB is a straight line.

A

B

How many more students chose Regd than Black?

(1) 5
2 2

@ 7

(4) 12

A solid cuboid of height 5 cm has a square base of side 4 cm. What is its volume?

(1) 20cm3

(2) 40cm?

(?;) 80 cm3
(4) 100 cm?



12.

- 13.

48 +

? 1 =.0.048 x 100

What is the missing number in the box?

(1)
(2)
(3)
(4)

John spent $50 of his allowance and saved the rest. When he increased his spending
by 10%, his savings decreased by 20%. How much was his allowance?

(1)
(2)
3
(4

1 .
10
100
1000

$44
$55

$75

$80



14. A cube was cutinto 2 halves to form the solid figure below.
Which one of the following is a possible net of the solid figure?

X

(1)

(2)

3)

4




15. 4 straight lines are cbnnécted to form the diagram shown below.
ZABG = ZEBC=/ACF =410 | o

A

The students in a class then made the folloWing statements:

« ~GBC+ 2 BCE = 180°
« ZGBD=.BDF

. BELBG
s BG J/ICF
e BDJLCF

-How many. of the above statements are true?
(1)
(2)
(3)
(4)

BOW N o
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* Questions 16 to 20 carry 1 mark each. Write your answers in the spaces provided.
For questions which require units, give your answers in the units stated. (5 marks)
All diagrams are not drawn to scale. : :

16.  How many common factors are there in 24 and 327

Ans:

17.  Find the value of 10 + 12. Give your answer in its simplest form.

- Ans®

18. ~ What is the length of the marker shown below?

nmunpm;mtuswmmummmpmmnmmmm 9!mul | un;ml
5 6 1 8 9o 1o 10

cm

Ans:

!l!ll]lll!Lil]ﬂll}!l!lill

cm

/3




19.  Asurvey was conducted on a group of 40 boys to find out the number of siblings they
have. The results of the survey are shown in the bar graph below.

Number 14
of
boys 42

10

Number of siblings

Based on the results, how many boys have the greatest number of siblings?

Ans: boys*

20. MrWee baked 5n cookies. He gave 8 cookies to each of his pupils and had

~ n cookies left. Expréss the number of pupils Mr Wee had in terms of n.

Ans: pupils

10 ‘2




Questions 21 to 30 carry 2 marks each. Show your working clearly in the space below each
question and write your answers in the spaces provided.

For questlons whlch require units, give your answers in the units stated. (20 marks)

- All diagrams are not drawn to scale.

21. A ribbon was 70.1 cm long at first. Alice gave-away some of the ribbon and the

remaining ribbonwasthen cut into 6 equal pieces of length 8.7 cm each.
Find the length of ribbon that was given away.

Ans: | .cm

22. The perimeter of the right-angled triangle' shown below is 70 cm.
What is the area of the triangle?

29 cm

cm?

11 - / 4




23.  Look at the 6 geometrical figures shown below.
How many of them have both perpendicular and parallel lines? .

X0

| rectangle rhombus ﬁgh}-angled square trapezium  parallelogram
triangle

i
|
{
i
|
|
|
|
i

a . Ans:

24.  Mr Wong had some red bowls and 76 blue bowls. He broke 8 red bowls and 6 blue
? : bowls. He had 120 bowils left. How many red bowls did Mr Wong have at first?

Ans: red bowls

- 25.  Karen had 12 litres of fruit punch at first. Her friends drank 2 of it.

1 ‘ ' r
Karen then gave 2 litre of the remaining fruit punch to her neighbours.

How much fruit punch did karen have in the end?

Ans: v o ires

12 / 6




26.

27.

28.

. 3 4 .
At a fruit stall, the price of a mango is 2 the'price of a rock melon. The price of a

guava is half the price of a mango. What is thev'ratio of the price of a rock mélon to

the price of a mango to the price of a guava?

” 3
In the rectangle shown below, £x = 5 of £Ly. Find £x

Ans:

Ans:. ; .°

i Tihg is m years old. Her father is: 4 times her age and 2-years older than'her

mother. How old was Yi Ting’é mother when Yi Ting was born?

Express your answer in terms of m in the simplest form:

Ans: _- years old

13

/ 6




29. The bar graph below shows the timing (in minutes) taken by 4 girls to complete
a 800 m race. | ’ ’ |

Time

(in miputes)
1

10

Write down the time taken by Mala to coniplete the race.

Ans: min’

14 /2




* 30.

There were 30 questions ina quiz. For the first 10 questions, Jay took 2 minutes to

- answer each guestion. He took thrice as long for each of the remaxnmg queshons

The quiz lasted 30 minutes. What is the most number of questions Jay could have
answered?

_Ahs:_' s B questiong

15 2
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Questions 1 to 5 carry 2 marks each. Show your working clearly in the space provided for
each question and write your answers in the spaces provided. For questions which require
units, give your answers in the units stated. (1 0 marks)

All diagrams are not drawn to scale.

1. The line graph below shows the number of buns sold from Monday to Thursday.

‘Number of buns

sold
400
350
300
250
200
150
400
50

|

fﬁ%\

h\
HIN

SRS SN NN SR ST

R LR AT
L.,...1 condemiceainlbonn

Monday ~  Tuesday - Wednesday - Thursday

~On average, how many buns were sold over the 4 days?

Ans: : _buns




Two types of poster are sold at the prices shown.

Small Large

oRe | LA
JaT, S s
°FON © FUN ©
IRYC

$2.20 per poster

$2.80 per poster

Yuting paid $80.60 for some small and large posters. She bought 2 more large
posters than small posters. How many small posters did she buy?

Ans: small posters

In the figure below, ACDF is a rectangle of length 28 cm made up of two identical

squares. A quarter circle is drawn in each square. What is the pén’meter of the

. 22
shaded part? (Take 7="_" )

A B C

AT
m
(w]

28 cm

. Ans: s oom







4. Liming had a piece of wire 1 5x cmilong. He formed a triangle with sides measuring
x cm, 3x cm and 18 cm, with part of the wire. What is the length of the remaining

wire? Express your answer in terms of x in the simplest form.

Ans: cm

1 .
5 5. A barrel of oil has a mass of 3.1 kg when it was 2 full. The same barel of oil has a
. 5
mass of 8 kg when it was 5 full. What was the mass of the barrel of oil when it was

completely full?




-For questions 6 to 17, show your Working clearly in the sp‘a‘ce brdvided for each question
and write your answers in the spaces provided. The number of marks available is shown in

brackets [ ] é_t_the end of each question or part-question. (45 marks)
All diagrams are not drawn o scale. ' _ ’ ”

6. CDE is a right-angled isosceles triangle. CD is perpendicular to DE.
The line DE has been drawn for you.

(a)  Using the protractor in the dot paper below, draw and label Triangle CDE. [2]
(b) Measure ZDEC. '

—

|

My

45}
/]

/]
i

My

%

%y
///////.

. %,

.

Ans: (b) » ]

4 /3




7. A unit shépe in the form of a right?angled triangle ié drawn in the dot paper below.

A quadrilateral formed when 2 such unit shapes are joined together as shown below has 2
- lines of symmetry,

N

Using the smallest number of unit shapes, a pencil, ruler and the given dots, form another 3
different quadrilaterals in the dot paper below such that:

(a) the quadrilateral formed has no line of symmetry

~

g

(b)  the quadrilateral formed has one line of symmetry

A

E

]

(c)  the quadrilateral formed has four lines of symmetry

et [1]




Mr Sim takes :}- h to travel from his home to Town A at an average speed of

64 km/h. If he wants to reach Town A 15 minutes earlier, at what speed must he

travel?

Ans: ’ [3]

A recténgular tank medsuring 112 cm by 80 cm is filled with water to a height of
‘ 2
14 cm. When 28.8 litres of water is removed, the water level drops to g the height

tank. ~
of the thaiﬁéf', What is the capacity of the tank?

Ans: . - - [4]




- 40.

Sharul was giveb $20 on Monday.

He recorded the fraction of the money he had that was spent that day.

The next day, he would bring the amount left from the day before to school and

record the fraction of this amount of money that was spent. He repeated this daily.

The table below shows the fraction of his money that he spent on 3 days.

Date 1 13 August 14 August 15 August | 16 August
Day Monday Tuesday Wednesday | Thursday
1 1 1
Fraction Spent 10 3 4
(a) By
Amount left $18

(a)  What was the amount of money Sharul had left on Tuesday?
(b)  Sharul spent $2 on Thursday.

What fraction of the money he had on Thursday was spent?

Ans: (a)

21 .

(b)

(2]

/4




1.

12.

|
I

Siti has some 20-cent coins and 50—(%ent coins in the rafio 3:4. Thetotal value of all

the coins is $52. What is the value of all her 20-cent coins?

Ans:

Ali, Bob and Carl shared a sum of money.

Ali received 40% of the total amount that Bob and Carl received.
Bob received 80% of what Carl received. o

Bob received $96 mére than Ali.

Find the sum of money shared by the 3 boys.

 Ans:

B3]

— B

/6




13. | In the rectangle shown below, PQ =28 cm and QR =21 cm.
3
Theratioof SA:AB:BQ=3:2:5, CRiszonC and PB = QB.

What fraction of the rectangle PQRS is shaded?

Ans: [4}




In the diagram beloW, Triangle OPT, Triangié OPR and Triangle OTR are inside a
circle with O being the centre of the circle.. OR=PR and £PTO = 11°.

(@) Find ZTOR

(b) Find ZPRT

Ans: (a) | [2]
(b) - 12]
10 I 4




15.

The teacher told the class that the average marks for a test was 82 marks.

The table below shows the average marks before Nicole took the test.

| However, Nicole was absent for the test.

prs Girls
Number 20
Average marks 79 86

After Nicole had taken the test, the teacher changed the average marks for the girls

and announced that the final average marks for the class was 82.5 marks.
(@) How many marks did Nicole score for the test?
(b) What was the average maiks scored by the girls finally? ~

Give your answer correct to 1 decimal place.

11

Ans:

_b).

(2)

121

2]

/4




The members of the Computer Club are divided into 2 grobpé.
There are 12 more members in Group A than in Group B.
The ratio of the number of boys in Group B to that of GroupAis3:4

3 _ _ o
2 of the girls in the Computer Club are in Group B.

There are 138 members in the Computer Club.

How many boys are there in Group A?

Ans: 5]




The figure shows two quarter circles and arectangle. The radius of the big quarter

~ circle is 14 cm. The radius of the small quarter circle is 7 cm. What is the difference

22
in area between the two shaded parts X and Y? (Take t = 7)

14 cm+

7 cm»

Ans: o .[5}

/5

Remember to check your work! Every mark counts.
~ End of Paper ~

13
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SCHOOL : MAHA BODHI SCHOOL
SUBJECT : MATHEMATICS

TERM  : PRELIMINARY EXAMINATION

Q21)8.7x6=52.2
70.1 - 52.2=17.9cm

Q22) 29 +21 =50
70-50=20

~x20x21=210cm’

Q23)3

PAPER 1 BOOKLET A
Q1 |3 Q2 |1 Q3 |2 Q4 |2 |05 |4
06 |4 Q7 |3 Q8 |4 -|Q9 |2 010 |2
0113 012 | 2 013 |3 Q14 |3 015 |2
PAPER 1 BOOKLET B
Q16) 4
1
7N
Q18) 8.5cm
Q19) 6
- 020)(3)




Q24) 76— 6 =170
120 — 70 =50
50 +8 =58

Q25) Remaining fruit punch > %x 12

=9 litres
Ans: 9 - == 8- it
ns: '-2— z.lres

Q26)8:6:3
Q27) 3+2=5

90 +5=18

18x3=54°
'Q28) Father > M x4

, =4m

Mother 2 (4dm—~2)

4dm —2 —m ={(3m —2 ) years old
Q29) 8 min
Q30) First 10 gn > 10x 2

= 20min
Remaining time left > 30— 20
= 10min )
Time taken for €a remaininggn > 2x3
‘ = 6min
10+6=1qn ' ’
10+1=11
PAPER 2

Q1) 150 + 200 + 300 + 350 = 1000
1600 + 4 =250 buns

Q2)2.80 x 2 =5.60
80.60 — 5.60 = $75
1 set > 2.20 +2.80

=$5



Number of sets > 75+ 5
' =15

Q3)28+2=14
%x?x28=44cm

44+ 14+ 14="72cm

Q4) Length of remaining wire > 15x —x—3x—18.

=(11x—18)cm
Q5) 7 units > 8-3.1
= 4.9kg
1unit> 4.9+7
=0.7kg v
Mass of barrel of 0il > 8kg + (0.7kg x 2)
=9.4kg

Q6b) 450




? h = 45min
45.- 15 =30

. L
30min = ;h

48 -+ —} = 96km/h

w

m, ‘vaﬁ of waier in fank at ﬁrst > 112x 80 X ]4
=125 440cm’

42.9 Jitres = 28 800cm’

£ 125 440 — 28 800
=96 640cm’

1> 96640+ 2

= 48 320cm’



=48320x5
=241 600cm’

v

1 —
Q102) 20 x —=2
1—-
18x;=6
18-6=8§12

Q10b)12x;=3
12-3=9

Ans =

i

Q11) 20¢ : S0c
‘ 3: 4

3x0.2=06
4x05=2
0.6+2=2.6
52+2.6=20
20x0.6=812

Q12) Bob > 80%
Carl 2 100%

Ali > 1%96 x 180%
=72%
80-72=8
8% > $96
252% -> 96+ 8 x 252
=$3024

Q13) Area of triangle SQR = -;— x28x21



=294cm’
Area of triangle SQC = % x12x 23
= 168cm’
Area of triangle PBS =-} x28x21
=147cm’
Aren of triangle PAB = = x 147

=58.5cm”
Area of triangle PQRS =28 x 21
- = 588cm’
Area of shaded part = 588 + 168
=226.8¢cm’

L . N 2268
Fractlon - v
27

AllS—*;(;

Q14a) <OPT = 11°
QR = PR = OP
<POR = 60°
TOR = 180 — 11 —11 — 60

oy

Q14b) <ORT = (180 - 98 ) + 2
= 41°
<PRT = 41 + 60
= lﬂlo

Q15a) Boys > 82-79=3
3 x 20 =60marks

Girls > 86-82=4



60 + 4 =15 ( girls at first)
Original total > (20+15)x 82
: = 2870

Marks scored by Nicole 2 2970 - 2870 -
=100

Q15b) 1290 + 100 = 1390
1390 + 16 = 86.875
= 86.9

Q16) No of members in A~> (138+12)+2
_ =75
No of members in B> 75-12
=63
3units + 3parts= 4 units+ 1 part — 12
3units + 3parts =63
4units + 1part =75
ipart=75- 4units ,
3units + 3 ( 75 —4 units) = 63
3units + 225 — 12units = 63
225 — 63 = 12units — 3 units
Dunits = 162 |
lunit=162+9
‘ =18
4units=18x4 .
=72 boys

- Q17) Area of small quadrant > %x 27—2- x7x7

| = 38.5cm’
Area of big quadrant > % X 273 x14x14

= 154cm’
154-38.5=1155 ~
115.5 - 98 = 17.5¢m’
END






